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1. (a)Va=2P, Vc=-2P, Ha=P; (b)-
2. (a) (5+8V2)*WLIAE; (b)-5*WLIAE

3. (a)Va=7P/8, VE=9P/8, Ha=5P/4, He=-5P/4; (b) x=7L/5
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5. (@)-;(b) v(x)= PO [I_COS\/EX} (c) R :%2 (d) Pt Figsb = 4Pe Figsa s

(e) 1) Wfailure =461 N 5 11) Wfailure ~250N

m
6. (a) TAB:TBC:ﬁJ Teo=mg; (b) u=

b

In(2sin 3)
LB+7r/2

(€) 1) Vg =3mg, M, =3mgL/2;

_ ﬁngL at extreme fiber at support ;

ll) Omax = 2 T zt

3mg

1) Ty = pr=n at neutral axis between support and cable




Part IA 2011-12 Paper 2 Section B: short answers

Q7. (b) u=;—3

Q9. (0) (i) A< |2 (i) & =276 MPa
2\ a,

(© (i) K=ovVra, K=(c-o¢)Jra

Q10. (a) (ii) ceramics, composites, natural materials

22
(c) deflection ¢ = ;Vh (1 v—-2v J

b? 1-v?

Q12. (b) oy = oy (L+£,), oy =791 MPa

(b) steel (£38.95)
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